
SAP ABAP table MEDATA_EXAMPLE_1_RETURN {Example 1}

MEDATA_EXAMPLE_1_RETURN

MANDT [CLNT (3)]

REGIO [CHAR (3)]

LAND1 [CHAR (3)]

SPRAS [LANG (1)]

TZONE [CHAR (6)]

T000

MANDT [CLNT (3)]
 MEDATA_EXAMPLE_1_RETURN-MANDT = T000-MANDT 

0..N

1
T002

SPRAS [LANG (1)] MEDATA_EXAMPLE_1_RETURN-SPRAS = T002-SPRAS 
0..N

1
T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 MEDATA_EXAMPLE_1_RETURN-LAND1 = T005-LAND1 
0..N0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 MEDATA_EXAMPLE_1_RETURN-REGIO = T005S-BLAND 

0..N

0..N

TTZZ

CLIENT [CLNT (3)]

TZONE [CHAR (6)]

 MEDATA_EXAMPLE_1_RETURN-TZONE = TTZZ-TZONE 

0..N

0..N


